0 — ZL - XA bMy/SA—EHTE =1
E4wy FEEZEIE H1200XW6000 $=1:30 7’ e

. 3000
(BAI5 7 EREORERES - AHASIEICREN GL+0m 124k3) ” =L
_ s gy . _ = BT M12 PL6 BT M12
L—iimaha > 7 1) — FMLER (W23%, W, *s%mmx (W2, S, SNTH)
K_E\ PL4.5
| i/[ / §£ L50 x50 x 6

77777 R 1 7—%‘”‘}377+—4H—— = ”‘T‘ = g r—s | — + | p— L - - - -
1 2 $38.1x1.6 | 1 8 B / 7/ bl (FABF )
C‘ ‘3 > A E) J /Deoxsox“ D —: Cntld == /- =

3 o s D) 77 -
-' L o\ Wl e
' Pk % BRI (< _L50x50x6 L 16 o
BLRETSC L, (BAES ) <78 1
6005 /
(BB =0 5949) = - Hwiavdlh
3000 (2%4) . 3000 (2%4) AREERTS <. (t=5)
PLE (B9Es F)
a2 -
MEAm | BHEAR (FArRF A a
i g il g A $21.7%1.6
o118 a~aifE
0 "I"I'"F'F""I“'I'F'F"'J"I"I O 0 0 0 g g ogoog 0.0 8 D60X60x23
:::J.: COAFOFOEIFEFOEAEOEdEEOED :J. J_::: CAEJFEIEIREIFEIEdET :::J.::: COAFOEAEOEOEFEdEOED :::J. B W \
qz R
MagEE )| 8l s $50.8x2.3 - ‘L l -
‘ ®50.8x2.3 - = ::;T;_:;T;::_ =
A L—JLCT75%x40%x5 - —
e e e e e e (7 2h—15) ]H[
7 6L+0m TN, e T R TN, o 3 3
%Ldﬂﬁ \ BRI 160 x 60 x 2. 3 S A 8 %é
BREROIE A b ot 5—D1OD1J:/1[%/ ess R=vny bFun—tih 25 | | 100 | | 25
500 500 (D) BT W12 (N, SW¢e) 150
- 570 @1000
1000
FER{TE $=1:6 ERfEIFALLERFTR  s=1:6
135, 500 35, 500
060x60x 2.3 BN 112 ; 160X 60 x 2. 3 " o
PL4.5 2Rk, S PL4 5 BN M12 Y BEt g
W22k, SWAF) ' W2#, SWi) HREAE - - - BG5S 7T FRECERERLEL -
=l . c:n% on oo, RETSICEDOCRAEDICZKS,
T — n e R A J BIEMSHER25 t BT
——t - 4 1 - £T %,
____________________ L I I BREE - - - REHERHS

100
o

| (W24, SWH) 1. NELH - D LETHRERIEMASEE L

------------- =] ! = T3, BL. FE, ELRUKLE - Fv
100 TJ MEBRMERD O EDH., L—ILIEFHLSD
2 182Y LT 5,

l/—)b[75x40x5/

‘ 140 x 40 x 5-150 _| ) @@J ‘@F 98kN./m (10t./m)
BEFEAI00 {% _ BNwi2 |/ (P S|z 40| 6 s
‘ -

(7 oh—1) 7 (7 oh—1t) 510 __
L—JLZL40x 40 x 3 50 __
@1000

240706852

2024.03




